GNSS

NMEA(National Marine Electronics Association) 0183

NMEA 0183

$--yyy NMEA *[16 1, *2C.
XOR $ * <CR> <LF>
yyy 12243.4976,N,11414.7289,E,091828.819,A

NMEAO0183 $--sss,df1,df2, [CR][LF]

@ @S global positioning system

BD QOWPASS

€\ AG\5S gl obal navigation satellite system

a A.ONASS

A

ac

-

DB SSS df1,df2 [CR] [LF]
GNNS

GGA
GLL ,UTC
GSA , / Dilution of Precision
GSV ID SNR
RMC
VTG
MSS (SNR),
ZDA

GNSS




1.

2.

GGA

GLL

<L
<L

<

RMC

VTG

ZDA

GSA

MSS

GSV

GGA(

)

$--GGA,1661229.478,3723.2475,N,12158.3416,W,1,07,1.0,9.0,M,7.3,M, ,0000*18

ID $--GGA GGA
UTC 161229.487 hhmmss.sss
3723.2475 ddmm.mmmm
N/S N N S
12158.3416 dddmm.mmmm
E/W W W E
1 0
( ) 1 GPS
2 GPS
3 PPS
07 0 24 GP+BD
HDOP( 1.0 1.0 99.9
)
9.0 9999.9 99999.9 "XXXXXX.XXX,M"
M
7.3 999.9 9999.9
M
( DGPS Differential Global Position
GPS ) System GPS
ID( 0000
)
*18
<CR><LF>
GLL( ,UTC )

$--GLL, 3723.2475,N,12158.3416,W,161229.487,A,0*2C

ID $--GLL GLL
3723.2475 ddmm.mmmm
N/S N N S
12158.3416 dddmm.mmmm
E/W w w E




uTC 161229.487 hhmmss.sss
A A= V=
0 0 1 2
3
4
*18
<CR><LF> ,
3. GSA( , / )
$--GSA A 3,07,02,26,27,09,04,15, , ,,,,1.8,1.0,1.5*33
7 17 ]
ID $--GSA $GPGSA
1 A M= 2D 3D
A=
2 3 1
2 2D
3 3D
07 7(PRN, 1 32
02 2
15-3 2
12
PDOP 1.8 5 50.0 0.1 17
HDOP 1.0 ( <2.0 )
VDOP 15
*33
<CR><LF>
4 GSV( SNR )

$--GSV,2,1,07,07,79,048,42,02,51,062,43|[26,36,256,42,27,27,138 42*71

$--GSV,2,2,07,09,23,313,42,04,19,159,41|[15,12,041,42*41

ID

PRC

7

ID $--GSV GSV
(  GSV 2 1 3
)
( GSsv 1 1 3
)
07
ID PRC 07 1 32
79 90 90
048 0~359
SNR 42 dBHz 0 99 :
0 50 S\R 99
50
ID 27 1 32




5.

6.

7.

27 90
138 0 359
SNR 42 dBHz 0 99
*33
<CR><LF>
MSS( (SNR), )

$--MSS, 55,27,318.0,100,*66

ID $--GSV GSvV
55 dB
27 dB
Beacon 318.0 kHz
Beacon 100 bps
*66
<CR><LF>

RMC(

)

$--RMC, 161229.487,A,3723.2475,N,12158.3416,W,0.13,309.62,120598, , ,A*10

as

ID $--RMC RMC
UTC 161229.487 hhmmss.sss
A A= V=
3723.2475 ddmm.mmmm
N/S N N S
12158.3416 dddmm.mmmm
E/W W W E
0.13 Knot 1 =1852 / =1.852
XXXX.XX 8
309.62 XXX XX
120598 ddmmyy( )
000. 0~180.0
E W
NVEA0183 3. 00
A= D= E=
Ne
*10
<CR><LF>
VTG( )

$--VTG, 309.62,T, ,M,0.13,N,0.2,K,A*6E

ID

$--VTG

VTG

309.62

T

M




0.13 Knot( )

0.2 /

*10

<CR><LF>
8. TXT( )
$--TXT,01,01,01, ANTENNA OK*2B

ID $--TXT

01

01

01 1
01-99

=01

ANTENNA OK 2 =01
ANTENNA OPEN
ANTENNA SHORT
ANTENNA OK

*2B

<CR><LF>

1 $PCAS04 $PCAS04
2 X 1
1:GPS 2:BD 3:GPS+BD
3 *hh *18
4 <CR><LF>

GPS $PCAS04,1*18



1 $PCAS10 $PCAS10
2 X 0: 1: 2: 3 0
3 *hh *1C
4 <CR><LF>
$PCAS10,0*1C

1 $PCAS01 $PCAS01
2 X 0:4800 1:9600 2:19200 0
3:38400 4:57600 5:115200
3 *hh *1C
4 <CR><LF>
4800 $PCAS01,0*1C
$PCAS00*01

1 $PMTK353 $PMTK353
’ « GPS 1
0 1
3 X 0
4 X 0
5 X 0
BD\GL
6 X 0
0 1
7 *hh *ZA
8 <CR><LF>
GPS $PMTKS353,1,0,0,0,0*2A

1 $SPMTK $PCAS10

2 XXX 101: 102: 103: 104 101

3 *hh *32




<CR><LF>

$PMTK101*32

$PMTK161,1,*29

$CCSIR,x,y*hh<CR><LF>

1-10 SIR

1 $CCSIR

2 X 1
x=1
X=2
x=3

3 y 2
y=1

=0
4 *hh
5 <CR><LF>
1-11

1 BD?2 $CCSIR,1,1*48

2 GPS $CCSIR,2,1*4B

3 BD2/GPS $CCSIR,3,1*4A

4 BD2 $CCSIR,1,0*49

5 GPS $CCSIR,2,0*4A

6 BD2/GPS $CCSIR,3,0*4B

$PCASO01,x *hh<CR><LF>
1-13 CASO1

1 $PCASO1

2 X

3 *hh

4 <CR><LF>

1-14

0 4800bps $PCAS01,0*1C

1 9600bps $PCAS01,1*1D

2 19200bps $PCASO01,2*1E

3 38400bps $PCAS01,3*1F

4 57600bps $PCAS01,4*18

5 115200bps $PCAS01,5*19




$PCAS02, xxxx*hh<CR><LF>

1-15 CAS02
1 $PCAS02
2 XXX

ms

3 *hh
4 <CR><LF>

1-16

ms

1 500 $PCAS02,500*1A
2 1000 $PCAS02,1000*2E
3 2000 $PCAS02,2000*2D
4 3000 $PCAS02,3000*2C

GP+BD

GGA GLL GSA GSV RMC
$GNGGA,050912.00,2309.927161,N,11325.858832,E,1,07,2.2,17.3,M,0.0,M,,,2.5*70
$GNGLL,2309.927161,N,11325.858832,E,050912.00,A,0*03
$GPGSA A, 3,02,04,12,25,05,,,,,,,,3.3,2.2,2.5,2.5*37
$BDGSA A 3,06,09,,,,,,,,,,,3.3,2.2,2.5,2.5*2E
$GPGSV,3,1,10,02,46,336,42,04,44,039,37,05,50,246,34,10,58,022,*7B
$GPGSV,3,2,10,12,30,285,41,13,21,056,,17,36,129,,23,01,038,*73
$GPGSV,3,3,10,25,11,309,34,26,12,183,*7F
$BDGSV,2,1,8,01,48,129,,03,46,233,,04,31,109,,06,59,348,35*5A
$BDGSV,2,2,8,07,13,165,,08,55,173,,09,54,296,36,10,04,186,*50
$GNRMC,050912.00,A,2309.927161,N,11325.858832,E,0.1,,161211,, A*6E
$GNTXT,01,01,01, ANTENNA OK*2B
GP+GL

GGA GLL GSA GSV RMC
$GNGGA,050912.00,2309.927161,N,11325.858832,E,1,07,2.2,17.3,M,0.0,M,,,2.5*70
$GNGLL,2309.927161,N,11325.858832,E,050912.00,A,0*03
$GPGSA A, 3,02,04,12,25,05,,,,,,,,3.3,2.2,2.5,2.5*37
$GLGSA A 3,06,09,,,,,,,,,,,3.3,2.2,2.5,2.5%2E
$GPGSV,3,1,10,02,46,336,42,04,44,039,37,05,50,246,34,10,58,022,*7B
$GPGSV,3,2,10,12,30,285,41,13,21,056,,17,36,129,,23,01,038,*73
$GPGSV,3,3,10,25,11,309,34,26,12,183,*7F
$GLGSV,2,1,8,01,48,129,,03,46,233,,04,31,109,,06,59,348,35*5A
$GLGSV,2,2,8,07,13,165,,08,55,173,,09,54,296,36,10,04,186,*50
$GNRMC,050912.00,A,2309.927161,N,11325.858832,E,0.1,,161211,, A*6E
$GNTXT,01,01,01, ANTENNA OK*2B

Hot Start GPS
Warm Start GPS
Cold Start



(Knot ) /(1852 | )

UTC  Universal Time Coordinated ( )
uTC +8 UTC+8
UTC-5
Beacon : GPS GPS
GPS

2013-7-3
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